Algebra 2:  7.4/7.6 Notes – Evaluating Logarithms and Solving 

     
   Logarithmic Equations

  Definition of Logarithm with Base b
  Let b and y be positive numbers with 
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  by 
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  The expression 
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 is read as “log base b of y.”

Note:  This definition tells you that the equations 
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 are equivalent.  

           The first is in logarithmic form and the second is in exponential form.

Example 1)  Change the following to exponential form.
a.  
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b.  
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Example 2)  Change the following to logarithmic form.
a.  
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b.  
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d.  
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Example 3)  Evaluate each expression.
a.  
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   (hint:  4 to what power is 64?)

b.  
[image: image20.wmf]2

log64



c.  
[image: image21.wmf]5

log625


d.  
[image: image22.wmf]log 100






e.  
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What about 
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Change of Base Formula:
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Example 4)  Evaluate each expression using the change of base formula.

a.  
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b.  
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c.  
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Example 5)  Evaluate each expression.
a.  
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h.  challenge:  
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Inverse Properties of Logs
Recall:    
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Now switch 
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 to log form.

Inverse Properties of Logs:
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and
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Example 6)  Evaluate each expression.
a.  
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c.  
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Solving by Equating Exponents
Example 7)  Solve each equation.
a.  
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Solving Log Equations with logs on one side:
Example 8)  Solve each equation.
a.  
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b.  
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g.  
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i.  
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Solving Log Equations with logs on both sides:

Example 9)  Solve each equation.
a.  
[image: image64.wmf](

)

(

)

44

log31log23

xx

-=+





b.  
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Importance of parentheses:
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vs.
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